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Instructions for Candidates
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2. Attempt all questions.
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followed throughout the paper.
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1. (a) Some valid arguments have false premises and true conclusion. Discuss in

the context of truth and validity. 6)
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Mere occurrence of premises and conclusion indicators does not make any

description an argument. Comment.
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(b) Distinguish between the following : “4)

i ¥ s Fife:
Sentence and proposition
EECIRGISE D)

OR / Jrar
Deduction and induction

ek amee

- 2. In what way different kinds of agreement and disagreement about belief and
attitude are communicated ? Discuss. ' (6)
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OR / J¥ar

Language performs multiple functions, which function of language is the primary

concern of logicians ?
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3. (a) Explain and illustrate the following fallacy (any one) : 4)
Freafafaa A & I witw =ren Hfke 1 (@ w)
(i) Equivocation
FHEEE AN
(i) Argument ad Ignoratium
AP A
(b) ' Identify and explain any two of the following fallacies : (8)
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(1) You must obey the rule formed by the authorities otherwise you will be
punished.
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(1)) A student to the teacher,” Sir, please give me attendance. My father
had an heart operation that is why I could not attend classes. My year
will be wasted if I am not allowed to sit in exams.”
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(iii) There are so many people who are attracted towards malls. Therefore
I must also follow the trend.
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4. (a) What difficulties logicians’ face when they try to rescue traditional square
of opposition ? Discuss this in the context of the probiem of existential

import. 4)
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(b) If ‘No men are perfect’ is true, what can be inferred about the truth and
falsity of the following propositions : 4
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(i) All men are non-perfect.
o =afe F-f 21

(1)) No perfect beings are men.
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(c) Give the converse and obverse of the following : (6)

Prafafe & TRad @ R AR

(i) All terrorists are criminals.
T S ST 2 |

(i) Sometimes wars are inevitable.

w0 -1 g Fard B 2 )

(i) No gold ornaments are invaluable.
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5. (a) Put the following jumbled syllogism into standard form and name its mood,
figure and test its validity/invalidity : (any two) 8)

fafeian sreafaa ~agfam @ 39 aifde saR ¥ sefere T e 3, STl
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(i) Some evergreens are objects of worship, because all fir trees are
evergreens and some objects of worship are fir trees.
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(i) All Calvin Klein jeans are on sale because no levies jeans are on sale
and no Calvin Klein jeans are levies jeans.
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(i) Some influential people are convicted murderers because all
convicted murderers are psychopaths and some psychopaths are
influential people.
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(b) Using Venn diagram test the validity/invalidity of any twe of the following :

7 YR T Y gy PR ¥ 3 Bl @ o v o A i

D 1 : ()
() IAI - 1II
(i) AEE -1
(i) EAO -1V
6. (a) Change the following into their standard form (any three) : - (3)

fafofar =l wFew IR § wRaffa ke | (@ d=)
@ All but cowards left the sinking ship.
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(ii) Dolphins are generally human friendly.
e arE: TE FE o § |

(iii) Bats are the only true flying mammals.
AR & DI I Al TATRL B B

(iv) Butterflies are not bees.
fofor s 8 SR |

(b) Explain and illustrate the notion of ‘dilenima’ or ‘disjunctive syllogism’. (3)

fafaen a1 Jafowe ~mgf o sraaRon Y JeERwr Aftd e FHNE

7. (a) Symbolize the following (any five) : _ (5)
el = gadlaxw g : (@ i)
(i) Subway makes good burgers and Dominos make good pizzas.

TS IS TR T @ A AT I s

(ii) Either she got married or she left the country.
71 A IgH WS B K A IE W S Raw

PTO.
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(iii) It will not rain unless there are dark clouds in the sky.
R & B TE TF A A e SIS A8 B |

(iv) It is not the case that ice is lighter than water but it will not float on
water. .
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(v) A post graduate student can become college teacher if and only if he
clears national eligibility test.

T RIS HIS HT FLATE I Gl @ afe IR haet AR T8 TEA
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(vi) Not both Chetan and Vikram are actors.
I IR fasw A & FfFar T8 2

(vii) John is neither good in studies nor in sports.

WA A RE A IS M T AAR N

(b) Use truth tables to determine if the following are tautologous, self-
contradictory or contingent : (any two) _ 6))

wearu fafYy g FuiRa i & o Feafefae oo, = sk s 21
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® (P29 V(g-~q9)]>p

() [(p2q)- (@a>p)=(p=q)
i) [pV(a D] Vr]

(c) Use truth table method to determine the validity/invalidity of the following
(any two) : (5)
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